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CIVIL ENGINEERING ESTIMATING & COSTING

Fruifa e fim =) [AftreRan 31 : 70
Time allowed : Three Hours] [Maximum Marks : 70

P () IR AR 8, AT 7 @ 5 @ % IR G |
Note : Question No. 1 is compulsory, answer any TWO questions from the remaining.
(i)  5A% ¥ & qHi W 1 FHTR T GTY §T Hilord |
Solve all parts of a question consecutively together
(iii) AP F57 F 79 78 8 IRF Fiford |
Start each question on fresh page.
(iv) @1 9rarsi 7 3R 817 1 IR 7 A srgare @ A= 8 |
Only English version is valid in case of difference in both the languages.

1. () Taadsn el waa o fore fr= neh &1 wftmon sma Hifv
Calculate the quantities of the following items for the building shown in Fig.-1.
(a) Fadfd s wn
Earthwork in foundation.
(b) 3 T 1w 1:6 Hive waTe § i qeun FE A |
Brick masomy work in cement mortar 1:6 in foundation and plinth.

(c) 3 T w1 v A= 1:6 Hive TETA H |

Brick masonry in cement mortar 1 : 6 in super-structure,
(d) ma%&mﬁw%aaﬁﬁvzakaﬁu:llﬁmwl
Reinforced cement concrete 1 : 1% : 3 in roof and lintels.
(i) e fmin @ ¥ R Frafafea sfwst & smar v firdh & S 6 e Hife
Sefer fmfor aet 1 <fterd 10 wiet; wa § U @ 2:1; e H e e 1:1 9
T Sl o Fmtor det 1 aaia 7 126.00 Hew aun 39 91 @1 150 H |
RE] 0 30 60 90 120
v s ara aet (A.) | 125 | 125.60 | 125.40 | 125.90 | 125.70

Estimate the quantity of earthwork for a road with the following data whereas
formation width = 10 m, side slope in embankments = 2 : 1; side slope in cutting
=1 : 1, formation level at 0 chainage = 126.00 m and then a fall = 1 in 150.

Chainage 0 30 60 90 120
R.L. of Ground (m.) 125 | 125.60 | 125.40 | 125.90 | 125.70 | (6x4+12)

(1of4) P.T.O.
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2. (i) veferadmve sshie 1 : 1-;-: 3 < I1uTa A we & farqa fafifyat ferfe |
Write down the detailed specification for the item ‘RCCin 1 : 1% : 3 ratio’. 9
(i) Tt fram ypr i Bt €, 3= forea & o g @ 2 :

How many types are there for writing the specifications and what are the

principles for writing out these ? 8
3. () WSl % e faveivur s manfe w0 9ot gewn! w5 avia fifv |
Describe the factors affecting the rate analysis of items. 8

(i) e “gom ol F 3¢ fE 1:4 didve ga @ a&ramﬁ”waﬁs@wﬁﬁq |

Analyse the rate for the item “First class brick masonry work in 1 : 4 cement
mortar for super-structure”. 9

4. (i) “qTE” QT B ? 30 FAfe yerrl i aferar qweed |

What is meant by “Value” ? Explain in detail its various types. 9
(i) U HiE R & Hdey fawan @ wwzm=d |
Explain in detail the duties of a Junior Engineer. 8

5. (i) WA e il dH-aA H ARt @ 2 e v S sreerl = 98w J gugme |
What are the methods of preparing the building estimates ? Explain in brief
different types of estimates. 8

(i) wfem feoft farfge
Write down brief notes :
(a) T WHMH 1 @ran
Material at Site Account
(b) WUSR &I AT
Verification of Stores

(c) U Td AR WUsR

Unserviceable and surplus stores (3x3)
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